Mann-Whitney U table

Description: This table provides the quantiles (percentiles) corresponding to the given probabilities
(areas) listed at the top of each table.

To get quantiles (percentiles):

1. Use the correct table based on whether you are doing a:

(1) one sided (directional) test, or

(2) two sided (non-directional) test.
Use your value of « to determine which table to use.

2. Once you have the correct table, enter the table with your ny and ng; your critical value is where
the row and column intercept.

For example, you want to find critical value corresponding to a = 0.01. You have ny =7
and ny = 9. You are doing a one sided (directional) test.

Locate the 4*® table (on page 5). Notice this says ”One sided probability = 0.01” at
the top.

Now find the row lableled 7 and go across until this intersects the column labeled 9.
You should see the number 54. This is your critical value.

(Notice that this table is symmetrical - you can also use the row labeled 9 and the
column labeled 7; you will get the same result).
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